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CO-ORDINATE GEOMETRY

Master Key Question Set 5 Practice Set 5 1

1. Find the distance between the following pairs of points

. (1)(2v 3)’ (4’ 1)(”)( - 57 7)a ( -1, 3)(%7:)(0" b)’ (_a'7 o b)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_epXUTmquNxpB

2. Find the distance between the following pairs of points

: (1)(2a 3)7 (4’ 1)(“’)( — 5, 7)7 ( -1, 3)(7'”)(0’7 b)a (—CL, - b)

° Watch Video Solution

3. Find the distance between each of the following pairs of the

points.

R(0, — 3),5(0, ;)

o Watch Video Solution

4.1f L(5,-8) and M (-7,-3) then the distance between points

Land M is

o Watch Video Solution



https://dl.doubtnut.com/l/_tXUn20B2a3b0
https://dl.doubtnut.com/l/_09CQgyNsavu6
https://dl.doubtnut.com/l/_7g7rICVc8t2t

5. Find the distance between each of the following pairs of the
points.

T( — 3,6), R(9, — 10)

o Watch Video Solution

6. If W(_T?, 4) and X(11,4) then the distance between points

W and X is

o Watch Video Solution

7. Find the point on X-axis which is equdistant from

A(—3,4) and 1, — 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_wOoPOBCDOZRd
https://dl.doubtnut.com/l/_Hv0C6T0afMsn
https://dl.doubtnut.com/l/_Yr1Io6beaJLT

8. Verify whether P(-2,2) , Q(2,2) and R(2,7) are the vertices of a
right angled triangle or not by completing the following

acitvity.

PQ=,/l2- (-2 +(2-27= 0.0

QR = \/(2 —2)° + 97— 22> = 5.(2)

PR = \/[2 — (=2 +(7T-27= 0O .03
from (1),(2),(3)

PR?=0,QP*+QR?> =0

S PR?’OPQ? + QR*[ = or #]

. A PQR O aright angled triangle [is /is not]

o Watch Video Solution

9. Show that points A (-4, -7), B (-1,2) , C (8,5) and D(5,-4)

are the vertices pf rhomus ABCD.

[ = ]


https://dl.doubtnut.com/l/_WuQv0L6L1Hrs
https://dl.doubtnut.com/l/_08ClOeHJl79X

| ¥J Watch Video Solution

10. Find x,if distance between L (x,7) and M(1,15) is 10.

o Watch Video Solution

11. Show that the points A(1,2),B(1,6), C’(l + 2\/§, 4) are the

vertices of an equilateral triangle .

° Watch Video Solution

12. Show that points P(2,-2) , Q (7,3) ,R(11,-1) and S(6,-6)

are vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_08ClOeHJl79X
https://dl.doubtnut.com/l/_yXICmqSgC2dg
https://dl.doubtnut.com/l/_o7BYCmpX94dH
https://dl.doubtnut.com/l/_2fqx7FcZH3WN
https://dl.doubtnut.com/l/_9xNfoLSYDF9E

13. Determine whether the points A(1, -3) , B(2,-5) and

C(-4,7) are collinear or not .

o Watch Video Solution

14. Determine whether the points are collinear.

L( —2,3), M(1, — 3), N(5, 4)

o Watch Video Solution

15. Determine whether the points are collinear.

R(0,3),D(2,1) and S(3, — 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_9xNfoLSYDF9E
https://dl.doubtnut.com/l/_kMrZRkwNcHvU
https://dl.doubtnut.com/l/_n9jegLBGtNQw

16. Determine whether the points are collinear.

P( - 27 3)7 Q(la 2)7 R(47 1)

° Watch Video Solution

17. Find the co-ordinates of point P if P divides the line
segment joining the points A( — 1,7) and B(4, — 3) in the

ratio 2: 3

o Watch Video Solution

18. In each of the following examples find the co-ordinates of
point A with divides segment PQ) in the ratio a: b.

P(-3,7,Q(1, —4),a:b=2:1

o Watch Video Solution



https://dl.doubtnut.com/l/_UE27gpwW9TK8
https://dl.doubtnut.com/l/_xg0pyjByJG1B
https://dl.doubtnut.com/l/_fbtbJtQ7aHwI

19. In each of the following examples find the co-ordinates of
point A with divides segment P(Q) in the ratio a: b.

P(—2, -5),Q(4,3),a:b=3:4

° Watch Video Solution

20. In each of the following examples find the co-ordinates of
point A with divides segment PQ in the ratio a: b.

P(2,6),Q( —4,1),a:b=1:2

° Watch Video Solution

21. Find the ratio in which point T'( — 1, 6) divides the line

segment joining the points P( — 3, 10) and Q(6, — 8)


https://dl.doubtnut.com/l/_fbtbJtQ7aHwI
https://dl.doubtnut.com/l/_c52NNQ7yR4Z0
https://dl.doubtnut.com/l/_nLoBP0VV9olV
https://dl.doubtnut.com/l/_nE6yA7PwRKnv

o Watch Video Solution

22. Find the ratio in which point P (k,7) divides the segment
joining

A(8,9) and B(1,2) .

o Watch Video Solution

23. Find the coordinates of the midpoint of the segment

joining the points (22, 20) and (0, 16)

° Watch Video Solution

24. Point P is the centre of the circle and AB is a diameter. Find

the cO-ordinates of point B if co-ordinates of point A and P are


https://dl.doubtnut.com/l/_nE6yA7PwRKnv
https://dl.doubtnut.com/l/_9wG4CDAmgFr2
https://dl.doubtnut.com/l/_gFZfxNwUtzBE
https://dl.doubtnut.com/l/_i0fyobwFppOp

(2, —3) and ( — 2, 0) respectively.

° Watch Video Solution

Master Key Question Set 5 Practice Set 5 2

1. Find the coordinates of points of trisection of the line

segment AB with A(2,7) and B( — 4, — 8)

° View Text Solution

2.1f A( — 14, — 10), B(6, — 2) is given, find the co-ordinates

of the points which divide segment AB into four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_i0fyobwFppOp
https://dl.doubtnut.com/l/_v5aZPutRtG7H
https://dl.doubtnut.com/l/_rzRV07H0URiX
https://dl.doubtnut.com/l/_74Ooi1KSYznK

3.1f A(20, 10), B(0, 20) are given, find the co-ordinates of the

points which is divide segment AB into five congruent parts.

o Watch Video Solution

4. In each of the following vertices of a triangles are given.
Find the coordinates of centroid of each triangle.

(—17,6),(2, —2),(8,5)

o Watch Video Solution

5. In each of the following vertices of a triangles are given.
Find the coordinates of centroid of each triangle.

(3, —5),(4,3), (11, —4)

o Watch Video Solution



https://dl.doubtnut.com/l/_74Ooi1KSYznK
https://dl.doubtnut.com/l/_QqyTGMBuI0jh
https://dl.doubtnut.com/l/_Ht9mgSKU6g7j

6. In each of the following vertices of a triangles are given.

Find the coordinates of centroid of each triangle.

(4,7),(8,4),(7,11)

o Watch Video Solution

7. In AABC,G( —4, —7) is the centroid of AABC. If

A( — 14, —19) and B(3, 5) then find co-ordinates of C.

o Watch Video Solution

8. A(h,-6),B(2,3) and C(-6,k) are the coordinates of vertices

of a triangle whose centroid is G(1,5). Find h and k.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ht9mgSKU6g7j
https://dl.doubtnut.com/l/_A4Xbvz15ymFb
https://dl.doubtnut.com/l/_wrUi5IyuFDvq
https://dl.doubtnut.com/l/_XF6hpEnSfRxn

Master Key Question Set 5 Practice Set 5 3

1. Find the slope of the lines whose iclination is given :

(1)45° (44)60° (ii7)120°

° Watch Video Solution

2. Find the slopes of lines passing through the given point.

(2,3) and B(3,7)

o Watch Video Solution

3. Write the slope of line passing through P(-3,1) and Q(5-2).

o Watch Video Solution



https://dl.doubtnut.com/l/_XF6hpEnSfRxn
https://dl.doubtnut.com/l/_NQwm0qgoHUxv
https://dl.doubtnut.com/l/_azKwkrzfvUBy
https://dl.doubtnut.com/l/_UALuG1NDCHkT

4. Find the slopes of lines passing through the given point.

O(5, —2) and D(7, 3)

° Watch Video Solution

5. Find the slope of line passing through L(-2,-3) and M(-6,-8).

o Watch Video Solution

6. Find the slopes of lines passing through the given point.

E(—4, —2) and F(6,3)

° Watch Video Solution



https://dl.doubtnut.com/l/_UALuG1NDCHkT
https://dl.doubtnut.com/l/_Am76WzCBEuG0
https://dl.doubtnut.com/l/_mFzZpqnXDemC
https://dl.doubtnut.com/l/_67em66HXi7KP

7.Find the slopes of lines passing through the given point.

T(0, — 3) and S(0, 4)

° Watch Video Solution

8. Determine whether following points are collinear.

A(—1, — 1), B(0,1), C(1, 3)

o Watch Video Solution

9. Determine whether following points are collinear.

D(—2, —3), B(1,0), F(2,1)

° Watch Video Solution



https://dl.doubtnut.com/l/_b8iIMsWS3pfI
https://dl.doubtnut.com/l/_mHez1vdUmxnA
https://dl.doubtnut.com/l/_zyy5UG5Tr8qz

10. Determine whether following points are collinear.

L(2,5), M(3, 3), N(5,1)

° Watch Video Solution

11. Determine whether following points are collinear.

P(2, —5),Q(1, —3),R(—2,3)

o Watch Video Solution

12. Using slope concept , determine whether R(1,-4), S(-2,2)

and T(-3,4) are collinear or not .

° Watch Video Solution



https://dl.doubtnut.com/l/_bfpm9Pu6rb9U
https://dl.doubtnut.com/l/_wnkJ3YwBdwUI
https://dl.doubtnut.com/l/_tU4y45O7yoMY

13. Determine whether following points are collinear.

A( — 4, 4),K<2 -, ;),N(4, _9)

o View Text Solution

14.1f A(1, — 1), B(0,4), C( — 5, 3) are vertices of a triangle,

then find the slope of each side.

° Watch Video Solution

15. Show that points A (-4, -7), B (-1,2) , C (8,5) and D(5,-4)

are the vertices pf rhomus ABCD.

o Watch Video Solution



https://dl.doubtnut.com/l/_knzzlW5dvVnI
https://dl.doubtnut.com/l/_lppNwEusWnwF
https://dl.doubtnut.com/l/_Av4av4rfjpDL
https://dl.doubtnut.com/l/_JEn46UkxkW7I

16. Find k, if R(1, — 1), S( — 2, K) and slope of line RS is

—2.

o Watch Video Solution

17.Find k, If B (k, - 5), C (1,2) and slope of the line is 7.

o Watch Video Solution

18.Find k, if PQ | | RS and P(2,4), Q (3,6), R (3,1), S(5.k).

o Watch Video Solution

Problem Set 5


https://dl.doubtnut.com/l/_JEn46UkxkW7I
https://dl.doubtnut.com/l/_XBa6AkqdQ2B6
https://dl.doubtnut.com/l/_XBRi9FKnNyES

1. Find the distance between the following pairs of poins.

A(a’7 0)7 B(O7 a’)

° Watch Video Solution

2. Find the distance between the following pairs of poins.

P(_67 _3)7Q(_1’9)

o Watch Video Solution

3. Find the distance between the following pairs of poins.

R( — 3a,a), S(a, — 2a)

° Watch Video Solution



https://dl.doubtnut.com/l/_h11gsdvK3RfP
https://dl.doubtnut.com/l/_PTgMxvXNpN9S
https://dl.doubtnut.com/l/_zkjeVflcKGca

4. Find a point on X-axis which is equidistant from

P(2, —5) and Q( — 2,9).

° Watch Video Solution

5. Do the points joining L(6,4), M(-5,-3) and N(-6,8) from a

triangle ? Mention the type of triangle so formed .

o Watch Video Solution

6. In the following examples, can the segment joining the
given points form a triangle? If triangle is formed, state the

type of the triagle considering sides of the triangle.

P(—2, —6),Q(—4, —2),R(—5,0)

o Watch Video Solution



https://dl.doubtnut.com/l/_3O99HWT2y2LG
https://dl.doubtnut.com/l/_pkaPNru4ZPRk
https://dl.doubtnut.com/l/_zFe9aUGZTEhx

7.1n the following examples, can the segment joining the given
points form a triangle? If triangle is formed, state the type of

the triagle considering sides of the triangle.

A(\/Z ﬁ))B( - \/§7 - ﬁ),C( o \/67 \/6)

o Watch Video Solution

8. Find the ratio in which the line segment joining the points

A(3,8) and B( — 9, 3) is divided by the 'Y-axis.

° Watch Video Solution

9. Given A(4,-3) ,B (8,5) . Find the coordinates of the point that

divides segment AB in the ratio 3: 1


https://dl.doubtnut.com/l/_zFe9aUGZTEhx
https://dl.doubtnut.com/l/_PO5iHPa4PsBf
https://dl.doubtnut.com/l/_5fhPHwZrSvVi
https://dl.doubtnut.com/l/_IcmYWPBmjBLJ

o Watch Video Solution

10. Find the coordintes of the midpoint of the segment joining

P(0,6) and Q (12 ,20).

o Watch Video Solution

11. Find the lengths of the medians of triangle whose vertices
are

A(-1), B (5,3) and C (3,5).

° Watch Video Solution

12. The line segment AB is divided into five congruent parts at

P,Q,R and Ssuchthat A— P—Q@Q — R— S — B. If point


https://dl.doubtnut.com/l/_IcmYWPBmjBLJ
https://dl.doubtnut.com/l/_dblW10E1U0ue
https://dl.doubtnut.com/l/_buJUZTYMtgtx
https://dl.doubtnut.com/l/_6OQsMSS0DoPX

Q(12,14) and S(4, 18) are given find the co-ordiates of A, P,R

and B.

o Watch Video Solution

13. Find the possible pairs of co-ordinates of the fourth vertex

D of the parallelogram, if three of its vertices are

A(5,6), B(1, — 2) and C(3, — 2).

o Watch Video Solution

14. Find the co-ordinates of centroid of the triangles if points
D(—-17,6),E(8,5) and F(2, — 2) are the mid points of the

sides of that triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_6OQsMSS0DoPX
https://dl.doubtnut.com/l/_QdOUPtMHdH6b
https://dl.doubtnut.com/l/_MhAqvfJgVHM6

15. Determine whether the given points are collinear.

A(07 2)7 B(17 - 0'5)a 0(27 - 3)

° Watch Video Solution

16. Determine whether the given points are collinear.

2.2 (s )

° Watch Video Solution

17. Determine whether the given points are collinear.

L(1,2), M(5,3), N(8, 6)

o Watch Video Solution



https://dl.doubtnut.com/l/_6GZQrmwnhw5Y
https://dl.doubtnut.com/l/_zVoXPiyaH20d
https://dl.doubtnut.com/l/_pz0Ke9XXuxCY
https://dl.doubtnut.com/l/_STzWklKI6eWA

18. Find k if the line passing through points

1
P(—12, — 3) and Q(4, k) has slope 3

o Watch Video Solution

19. Show that the line joining the points A(4,8) and B(5,5) is
parallel

to the line joining the points C(2,4) and D(1,7).

o Watch Video Solution

20. Show that points
P(1, —2),Q(5,2), R(3, —1),S( — 1, — 5) are the vertices

of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_STzWklKI6eWA
https://dl.doubtnut.com/l/_sXGO4THz0y4u
https://dl.doubtnut.com/l/_Cvrxkk4p3FFC

21. Show that the points P(2,]1), Q(-1,3) , R (-5,-3) and

S (-2,-5) are the vertices of a square..

° Watch Video Solution

22. If the points A(-4,-2) , B (-3,7) , C(3,-2) and D(2,3) are
joined serially , find the type of quadrilateral ABCD by
completing

the following activity.

° Watch Video Solution

23. Find the slope of the diagonals of a quadrilateral with

vertices A(1,7), B(6,3)C(0, — 3) and D( — 3, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_2EUFghQeVEGm
https://dl.doubtnut.com/l/_20pPYsfVWxos
https://dl.doubtnut.com/l/_QP4dbB99eWg6

Problem Set 5 Mcgs

1. Seg AB is parallel to Y-axis and Co-ordinates of point A are
(1, 3) then co-ordinates of point B can be ... A)(3,1) B)

(5,3) C)(3,0) D)(1, — 3)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QP4dbB99eWg6
https://dl.doubtnut.com/l/_HfLCECXTt0lb
https://dl.doubtnut.com/l/_rd8IXFXbEcRk

2. Out of the following, Point _lies to the right of the

origin on X- axis.

A.(—2,0)

Answer: D

° Watch Video Solution

3. Distance of point (-3, 4) from the origin is __

A7

B.1


https://dl.doubtnut.com/l/_rd8IXFXbEcRk
https://dl.doubtnut.com/l/_tpJsmwr58XxW

C.5

Answer: C

o Watch Video Solution

4. A line makes an anlge of 30° with the positive direction of

X-axis.

So the slope of the line is

w >
§| §|'—‘ N’|§| ol =

0N

o



https://dl.doubtnut.com/l/_tpJsmwr58XxW
https://dl.doubtnut.com/l/_f2Rwz9u0JX4O

Answer: C

o Watch Video Solution

Problem Set 5 Addutonal Mcqs

1. Find the slope of the line with inclination 60°.

o

A3

@

C.1

D.O

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_f2Rwz9u0JX4O
https://dl.doubtnut.com/l/_C3uOMuNf6Lz2

2. Find the inclination of a line with slope 1. A)60° B)45° C)90°

D)Can't say

A.60°

B.45°

C.90°

D. Can't say

Answer: B

o Watch Video Solution

1
3.Line [ is parallel to line m. It slopes of line [ is 3 then slope

of linemis


https://dl.doubtnut.com/l/_C3uOMuNf6Lz2
https://dl.doubtnut.com/l/_fI3kjUh7QbM5
https://dl.doubtnut.com/l/_Md64jfK9hEYo

A —2
B.O
c 1
2

D. Can't say

Answer: C

° Watch Video Solution

4.What is slope of line passing through points (4,6 ) and (1, -

2)?

w
ol oo | w Wk

N


https://dl.doubtnut.com/l/_Md64jfK9hEYo
https://dl.doubtnut.com/l/_gHLqQOOcAfsn

Answer: D

o Watch Video Solution

5. The slope of X-axis is

A.O

B.1

C.—1

D. Not defined

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gHLqQOOcAfsn
https://dl.doubtnut.com/l/_I0WqEAzYiZJ9

6. Wrtie the slope of X-axis and Y-axis .

AO

B.1

C.—1

D. Not defined

Answer: D

° Watch Video Solution

7. Distance of point A(7, 24) from the originis . A)17 B)-17

C)25 D)Can not be found

A 17


https://dl.doubtnut.com/l/_Mk9aVdulZz7h
https://dl.doubtnut.com/l/_ZT55ULKQx8Wr

C. 25

D. Can not be found

Answer: C

o Watch Video Solution

8. Find the co-ordinates of the point P which bisects seg
having co- ordinates (3,2) and (5, — 2) A)( — 3,5) B)(0,4)
C)(47 O) D)(57 T 3)

A(—3,5)

B. (0, 4)

C. (4, 0)


https://dl.doubtnut.com/l/_ZT55ULKQx8Wr
https://dl.doubtnut.com/l/_a0NtedK8JuZb

D.(5, — 3)

Answer: C

o Watch Video Solution

9. Find the co-ordinates of the point which divides line seg QR
in the ratio 1:2 where Q (1, 1) and R1, — 2) A)( — 5, 3) B)
(1,0) O)( — 3,2) D)(4,0)

A (—5,3)

B. (1, 0)

C.(—3,2)

D. (4, 0)

Answer: B

f h |


https://dl.doubtnut.com/l/_a0NtedK8JuZb
https://dl.doubtnut.com/l/_C6OUHBjxh59x

| o Watch Video Solution

10.In what ratio does the point (1, 6) divide the line segment
joinigng the points (3,6) and ( — 5,6) ?

Al:3

B.2:3

C.3:1

D.3:2

Answer: A

o Watch Video Solution

Problem Set 5 1



https://dl.doubtnut.com/l/_C6OUHBjxh59x
https://dl.doubtnut.com/l/_OXDNKp3b6reu
https://dl.doubtnut.com/l/_yVYZaIwLSKNU

1. Show that A(4, — 1), B(6,0),C(7, —2) and D(5, — 3)

are vertices of a square.

o Watch Video Solution

2. Find the coordinates of circumcentre of a triangle whose

vertices are ( — 3, 1), (0, — 2) and (1, 3)

° Watch Video Solution

3. Find the co ordinates of circumcentre and radius of a

circumcircle of AABC, if A(7,1),B (3, 5) and C(2,0)" are given.

o Watch Video Solution



https://dl.doubtnut.com/l/_yVYZaIwLSKNU
https://dl.doubtnut.com/l/_NvDRy9d8mMgf
https://dl.doubtnut.com/l/_4ZdWSdFpHF3p

4.Find the coordinates of centre of the circle passing through
the

points P(6,-6),Q (3,7) and R(3,3)

o Watch Video Solution

Problem For Practice

1. Find the distance between the given points.

(i) A(3, —4), B( - 5,6),
(”) P(107 - 8)7 Q7 ( - 37 - 2)
(iii) K(0, — 5), L( — 5, 0)

(iv) I(3.5, 6.8), J(1.5, 2.8)

° Watch Video Solution



https://dl.doubtnut.com/l/_nVj4Szse9Fj0
https://dl.doubtnut.com/l/_LRA3xzni3apf
https://dl.doubtnut.com/l/_Lrlf2PRjf7lk

2. Show that the point (5, 11) is equidistant from the Points

(—5,13) and (3, 1)

° Watch Video Solution

3. Check whether points (3,3),( —4, — 1) and (3, — 5) are

the vertices of an isosceles triangle.

o Watch Video Solution

4. Find the relation between x and y, where point (z,y) is

equidistant from (2, — 4) and ( — 2, 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_Lrlf2PRjf7lk
https://dl.doubtnut.com/l/_pKtdK94wxmoh
https://dl.doubtnut.com/l/_e3OrkwqcCXwl

5.Show that point (0,9) is equidistant from point (-4,1) and (4,1)

o Watch Video Solution

6. Find a point on the y-axis which is equidistant from the

point A(6, 5) and B( — 4, 3).

o Watch Video Solution

7. Using distance formula, check whether following points are
collinear of not.
(i) L(4, — 1)M(1, —3),N(— 2, — 5)

(i) A( — 5,4), B( — 2, — 2)C(3, — 12)

o Watch Video Solution



https://dl.doubtnut.com/l/_7cvuTrIuzpNn
https://dl.doubtnut.com/l/_nhXE85wi7fyG
https://dl.doubtnut.com/l/_LaJqATeXe2QE

8.Find the distance of point Z( — 2.4, — 1) from the origin.

o Watch Video Solution

9. Show that the points A(4, 7)B(8,4) and C(7, 11) are the

vertices of a right angled triangle.

o Watch Video Solution

10. Show that A(4, — 1), B(6,0), C(7, —2) and D(5, — 3)

are vertices of a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_vLTqGcYr3joK
https://dl.doubtnut.com/l/_vwZK60Oexnjp
https://dl.doubtnut.com/l/_hV8aUCtQwrTz

11. Find the coordinates of the circumcentre of PQR if 'P(2,7),

Q(-5,8) and R(-6,1).

° Watch Video Solution

12. The vertices of a triangle are

(2,4), B(2,6),C(2+ +/3,5). Thetriangleiis :

o Watch Video Solution

13. Find the coordinates of the circumcentre of ABC, if

A(2,3),B(4, — 1) and C(5,2). Also find circumradius

° Watch Video Solution



https://dl.doubtnut.com/l/_Fp2SkjhtTfbk
https://dl.doubtnut.com/l/_4hIWheDfwuj0
https://dl.doubtnut.com/l/_EfgmR6hxVXvO

14. Show that points
A(l, —5),B(—4, —8),C(—1. —13) and D(4, — 10)

are the vertices of a rhombus.

o Watch Video Solution

15. Find the coordinates of the point P which divides line
segment QR in the ratio m:n in the following examples.

Q( - 5a8)nR(4, — 4),m:n =2:1

° Watch Video Solution

16. Find the coordinates of the midpoint of segment QR, if

Q(2.5, — 4.3) and R( — 1.5,2.7)

o Watch Video Solution



https://dl.doubtnut.com/l/_Oguh6J3n6wo6
https://dl.doubtnut.com/l/_sJkX2SIOu674
https://dl.doubtnut.com/l/_L6RAjs616csM

17. Find the coordinates of the midpoint P of seg AB, if

A(3.5,9.5) and B( — 1.5,0.5)

o Watch Video Solution

18. In what ratio does the point(1, 3) divide line segment

joining the points (3,6) and ( — 5, — 6)?

o Watch Video Solution

19. Find the lengths of the medians of a ABC whose vertices

are A(7, —3), B(5, 3)and C(3, —1).

o Watch Video Solution



https://dl.doubtnut.com/l/_L6RAjs616csM
https://dl.doubtnut.com/l/_wd0MTNHia2AG
https://dl.doubtnut.com/l/_bTK1TRs2fpKM
https://dl.doubtnut.com/l/_aMlfK3rlDmMm

20. Show that the mid-point of the line segment joining the
points (5, 7) and (3, 9) is also the mid-point of the line

segment joining the points (8, 6) and (0, 10).

o Watch Video Solution

21. Segments AB and CD bisects each other at point M. If

A(4,3), B(-2,5), C(-3,5), then find coordinates of D.

o Watch Video Solution

22.Find the ratio in which the line segment joining the points

(6,4) and (1, — 7) is divided by X-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_VfdwqMESzIhl
https://dl.doubtnut.com/l/_5fUaBuklXYa5
https://dl.doubtnut.com/l/_PFib4rATcfHG

23. Find the coordinates of the points which divide the line
segment joining the points ( — 2,2) and (6, — 6) in four

equal parts.

o Watch Video Solution

24. Find the coordinates of the points which divide segment

AB into four equal parts, if A(5,7) and B( — 3, — 1)

o Watch Video Solution

25.1f A— P — @ — B, point P and Q trisects seg AB and

A(3,1),Q( — 1, 3), then find coordinates of points B and P.

o Watch Video Solution



https://dl.doubtnut.com/l/_HMfhA0IalOAj
https://dl.doubtnut.com/l/_8h1raRa4OvmJ
https://dl.doubtnut.com/l/_HRctgGwwhTF8

26. Find the coordinates of centorid G of ABC, if
(A(8, 9), B(4,5), C(6, 2)

(ii) A(11, 8), B( — 6,5), C(1, — 28)

o Watch Video Solution

27. The origin 'O' is the centroid of ABC in which

A( —4,3)B(3,k) and C(h,5). Find h and k.

o Watch Video Solution

28. Find the coordinates of the points dividing the segment

joining A( — 5,7) and B(11, — 1) int four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_b6lJkO0lEcif
https://dl.doubtnut.com/l/_tQsGGA1UtVWT
https://dl.doubtnut.com/l/_n6Ys2zYhGFih

29. Find the slope of a line which makes an angle with the
positive X-axis.

(i)0°

(ii) 30°

(iii) 45°

(iv) 60°

(v) 90°

o Watch Video Solution

30. Find the slope of the line passing through the points. (i)

( -1, 4)7 (3’ - 7) (ii) (57 5)7 (17 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_4KNeqI1beojq
https://dl.doubtnut.com/l/_6R6E3CKL2odp

31. Using slope concept, check whether the following points

are collinear. ( — 2, — 1)(4,0)(3, 3)

° Watch Video Solution

32. Find the value of k, if (5,k),(—3,1) and (—7, — 2)

are collinear.

o Watch Video Solution

33.Find the value of k, if (2,1)(4,3) and (0, k) are collinear

1.

° Watch Video Solution



https://dl.doubtnut.com/l/_oyWfFhsl2QRA
https://dl.doubtnut.com/l/_E0X0R70FinXc
https://dl.doubtnut.com/l/_LL4KFFpavzvM

34.Find the value of k, if the slope of the line passing through

(2,5) and (k, 3) is 2.

° Watch Video Solution

35. P(3,4), Q(7,2) and R(-2, -1) are the vertices of PQR. Write

down the slope of each side of the triangle.

o Watch Video Solution

36. Show that line joining (4, — 1) and (6, 0) is parallel to

line joining (7, — 2)! and (5, — 3).

° Watch Video Solution



https://dl.doubtnut.com/l/_mNdLJlLXethq
https://dl.doubtnut.com/l/_vZ8iCDW2w4BL
https://dl.doubtnut.com/l/_HkZN3vuFra3Z

37. Show that O ABCD is a parallelogram, if

A(-1,2),B(—5, —6)C(3, —2) and D(7, 6)

° Watch Video Solution

38. Show that P(3,4),Q(7, —2),R((1,1) and S( —3,7)

are the vertices of a parallelogram.

o Watch Video Solution

Assignment 5

1.Slope of a line is 4/3. Find its inclination.

° Watch Video Solution



https://dl.doubtnut.com/l/_cTHT4qly8jtE
https://dl.doubtnut.com/l/_FHTV9e7n6CWf
https://dl.doubtnut.com/l/_ucPYn63bXGhD

2. Find the distance between A(2,3) and B(4,1).

o Watch Video Solution

3. Seg AB is a dimeter of a circle with centre P(1,2), If

A( — 4, 2) then find the co-ordinates of point B.

o Watch Video Solution

4. If P —Ty and P(—3,10),Q(6, —8) and T'( — 1, 6),
then find the ratio in which point T divides seg PQ (Complete
the following activity) Let point T divides seg PQ in the ratio
m:n

P(=3,10) = (21, 11)Q(6, —8) — (22, ¥2)T)( — 1, 6) = (z,)


https://dl.doubtnut.com/l/_T4zZLUJYClV1
https://dl.doubtnut.com/l/_xEgB22CbEUgA
https://dl.doubtnut.com/l/_9rKp5YoKHAy6

By section formula,

&2

o Watch Video Solution

5. A(—17,6),B(2—2) and B(8,5) are co-ordinates of
vertices of AABC. Find the co-ordinates of centroid of

AABC.

° Watch Video Solution

6. Decide (2, 10), (0,4) and (3, 13) are colliner or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_9rKp5YoKHAy6
https://dl.doubtnut.com/l/_kUI0f0U2WA0o
https://dl.doubtnut.com/l/_2n84EvaGbokM

7.Find k,if PQ | | RS and P(2,4), Q (3,6), R (3,]), S(5,K).

o Watch Video Solution

8.Prove that (v/2,2)( —v/2, — v/2) and ( — /6, /6) are

ther vertices of an equilateral triangle.

o Watch Video Solution

9. Find the co ordinates of circumcentre and radius of a

circumcircle of AABC, if A(7,1),B (3, 5) and C(2,0)" are given.

o Watch Video Solution



https://dl.doubtnut.com/l/_JX0AL6YMF8Fu
https://dl.doubtnut.com/l/_mI4rMJTvNJTU
https://dl.doubtnut.com/l/_Z1eHz1Mt1lAe

10. Find the possible co-ordinates of the fourth vertex of the
parallelogram, if  three of its vertices are

(5,6), (1, — 2) and ( — 3, 2).

o Watch Video Solution

1. Find the co-ordinate of the point which divide the line
segment joining the points (-2, 2) and (6, -6) into two equal

parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_IPXJ2GbqdLzJ
https://dl.doubtnut.com/l/_yTBPNyqfvqow

